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0. Take a good look. Take a sip of your drink, and reflect on it. Might be
something that jumps out at you, like even/odd function on an interval
symmetric about the origin. You might see something that saves you a ton
of work, later (Instructors /ove scary-looking test questions that are easy, if

you can just see the lever...). .S’E‘. 3w 153198 e = O

-
I. Simplify the Integrand if Possible Sometimes the use ol algebraic manipula-
tion or trigonometric identities will simplity the itegrand and make the method ol

integration obvious.

2. Look for an Obvious Substitution Try to find some function ¥ = g(x) in the
integrand whose differential du = g'(x) dx also occurs, apart from a constant fac-
lor.

3. Classify the Integrand According to Its Form If Steps | and 2 have not led
to the solution, then we take a look at the form of the integrand f(x).

a. Trig Functions — 8.2 skills.

b. Rational Functions — 8.4.

c. Integration by Parts — 8.1 — Look for powers of x times
transcendental functions (, etc.)

d. Radicals — Trig substitution tricks (8.3) for situations and the
"simplifying substitution" we spoke about briefly in 8.4: Use when
facing situations that aren't cured by other techniques.
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